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SECTIONB

Answer ALL questions. Write your answers in the spaces provided.

1T M i fair spi ice. o
andy spins a fair spinner twice 2/\\ 5
The colours on the spinner are red, blue, green, orange and pink. e s
The table shows all the possible outcomes. \iti'-_._.r% &
cme o
Second spin SE 8
Red Blue Green Orange Pink % S5
s
Red R R R, B R G R, O R, P s
Blue B,R B,B B, G B,O B, P i
First spin Green G R G,B GG GO G P
Orange OR O, B 0O,G 0,0 O,P
Pink PR PB PG PO PP
4 )
(@) What is the probability of getting the same colour on both spins?
(1)
J
( )
(b) What is the probability of getting at least one blue in the two spins?
(2)
N _J

(Total for Question 1 is 3 marks)
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( )
5 2 Habiba wants to make pastry by mixing butter and flour.
855 She needs to mix the butter and the flour in the ratio 4 : 9
SR Habiba wants to make 650 grams of pastry.
3 % She has 425 grams of flour.
S
z| )
SIS Does Habiba have enough flour to make 650 grams of pastry?
f‘%*i Show why you think this.
Z % (3)
o
8

N _J

(Total for Question 2 is 3 marks)
y,

R 00 DO A 3
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Habiba also wants to make cupcakes.
She has this list of ingredients.

Cupcakes
makes 12

2 cups of flour 1 eqgg
3 tbsp butter 10.5 fl oz milk
3 cup sugar 3 apples

pinch of cinnamon

Habiba wants to make 30 cupcakes.

1floz=28.413ml

-
How much milk does Habiba need to make 30 cupcakes?

Give your answer to the nearest ml.

(4)

ml

(Total for Question 3 is 4 marks)
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4 Callumis a plumber.
He spends money on eight different adverts.
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Callum has this information about the money he spent on each advert
and the number of new customers from seeing that advert.

5%
)]
\R
o,
’0

A

AR
XY
KRR

XX

Money spent (£) 100 175 80 250 150 325 125 290

Number of new

7 12 4 16 8 23 9 18
customers

Callum wants to draw a diagram to see if there is a relationship between the money
he spent on each advert and the number of new customers from seeing that advert.

Draw a suitable diagram for Callum.
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(Total for Question 4 is 3 marks)
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\
Misha rows in a team of 8 people.
She wants to compare the mean BMI of the people in the rowing team with o <
the mean BMI of women in the UK. :g:-: S
= e
Misha uses this formula to calculate her BMI. :9{ -
5 B
BMI = — TR SR
H? = s
s~
W is weight (kg) a e
H is height (metres) = ‘z’
m %3 0 %
;:-> 5 :3;_’9 %
Misha has a weight of 73.3kg and a height of 67 inches. %
1inch =2.54cm :\;ff/.
The table shows some information about the BMIs of the people in the rowing team.
Louise | Katia Leila Lisa Gemma Mel Steph | Misha /U

24.8 27.1 25.7 28.3 264 25.2 276 | ...

The mean BMI of women in the UK is 26.9

4 )
Compare the mean BMI of the people in the rowing team with

the mean BMI of women in the UK.

RIS

(5)

I IR
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(Total for Question 5 is 5 marks)
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-

(@) Write three million, six hundred and seventy five thousand in figures.
(1)

(

(b) Write 760 grams as a fraction of 1 kilogram.
Give your answer in its simplest form.

(2)

(Total for Question 6 is 3 marks)

P 6 8 4 7 1 A 0 8 2 0

b
X KKK
RS

X

,0?%
RS

X \\
%%
’:0 %R
00K
XRALLR

OO

2R
M ‘?’\\%o

Mo’. %

NG
S

o<

SE s
SO
Q.O‘v.to

KK
Batessse)
.“V

v

OO
3K
X1

XRLX

)~
K
$3e%s;
X%

o -
o0 v a0
SIS

KK
RS

0
Sotose,
0%
Xl
RS
KK

XXX

LXXS
SSEIR
N
&5
S
5% 0%

¢
o
0’,:,
Kl
X
020!

&
b%S
&

ol
% a8
s

&
D0s0rera%ss
SRIXX
s
Dosora ives
’Of‘vx:‘g’
s
QX g 0
Poote el
:of‘
e,

ook LS
S
.:.ro'»‘b

0%
0 ered%
S
0»10;‘
@ 308
0,0:\;‘0,
KRGS
2%
SRS
SO
OGNS




SOOI

OOOCK

X

( )
7 Nyam looks at the screen time report on his phone.
This week his average screen time per day is 28% greater than his average screen
time per day last week.
This week Nyam's average screen time per day is 3 hours and 44 minutes.
( )
Work out Nyam’s average screen time per day for last week.
(4)
\_ J
(Total for Question 7 is 4 marks)
J
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8 Frank wants to fit underfloor heating in his kitchen.
The kitchen is in the shape of a rectangle.

He has this sketch.

A
I 600 mm
floor 4.5m
space
v
h 3.6m -

The shaded space shows the part of the floor covered by cabinet bases.
Each cabinet has a depth of 600 mm.

Frank will cover part of the floor space with heating cable.

Frank needs to leave a gap of 100 mm between the base of the cabinets and the part
of the floor space he will cover.

He needs to buy a cable pack.

The table shows information about the different sizes of heating cable packs and the
maximum floor area each pack can cover.

Cable pack size Maximum floor area (m?) Cost (£)
small 4.2 109.99
medium 6.0 164.99
large 8.4 179.99
extra large 10.6 199.99

Frank wants to spend as little as possible.

10
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~
( )
(@) Work out the cost of the cable pack Frank needs to buy.
You must show your working.
(5)
£
N\ J
( )
(b) Use a reverse calculation to show a check of your answer.
(1)
N J
(Total for Question 8 is 6 marks)
J
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g \ B g
9 Sammi has designed a sweet tin in the shape of a cylinder. s
The plan and the front elevation of the tin are shown on the centimetre grid below. SR
O o
o i
§ies L
yd N\ £ B
TR SR

= =
plan ;; g
,\ l ;:ﬁ 0 %
\ / front B e

N\ /
Find the volume of the sweet tin. &
(3) %
cm?
- J
(Total for Question 9 is 3 marks)
\
12
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(@) Write % as a mixed number.

(1)

Here is a list of numbers.

-

(b) Find the median.

(2)

(Total for Question 10 is 3 marks)
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11
( )
(@) Write 28% as a decimal.
(1)
N\ _J
Andrew pays 38.90 euros for a meal in Spain using his British bank card.
The British bank charges a fee for changing currency.
The fee is 2.75% of the amount he pays for the meal.
£1=1.127 euros
-
(b) Work out the total amount Andrew pays for the meal and the fee.
Give your answer in pounds.
(4)
N
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12 Bilal works for a supermarket.
His usual pay is £8.70 per hour.

Bilal will work for 7% hours this Sunday.
The supermarket will pay Bilal time and a half for working on a Sunday.

Bilal thinks the supermarket will pay him more than £100 for working this Sunday.

4 N
(@) Is he correct?

Show why you think this.
(3)

1

=)}
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Mina works in a different shop.
The table shows some information about the wages for Bilal and the wages for Mina
for the last six weeks.
1 2 3 4 5 6
Bilal 216.43 | 283.94 | 192.87 | 221.02 | 20548 | 186.32
Wages (£)
Mina 296.56 | 308.71 | 188.96 | 259.32 | 126.40 | 283.21
Bilal says,
“My wages were more consistent than Mina’s wages for the last six weeks.”
( )
(b) Were Bilal's wages more consistent than Mina’s wages?
Give a reason for your answer.
(3)
- J
(Total for Question 12 is 6 marks)
TOTAL FOR SECTION B IS 48 MARKS
TOTAL FOR PAPER IS 64 MARKS
J
17

P 6 8 4 71 A 01 7 2 0



0
X
o

XXX X
e
Desesesetetets

000,
o
2
<%

85

35

X5
35

<%

\". e
4 00\
A

23
3

<®%>¢L,&‘ 29%0%
NIHV-S
%\ St

4%%
o

%
o208

s
S5

\\.
BB
e
s

X
%
0%

%
%!
ool
3
0%

QOEKANK
RS
T 1o%%%
Q§§%0q~
RRIRRERE,
SIS

S8

0,
%
o

KRR
KRR

3%
KoM’ 50
SRS
SR 2508

; 19504

%
QBLES
OS5
5050

BLANK PAGE

K

BB
Deseetlese!
POt ;9%
ploter eseld

SRS
SRIARS
prosotsosess
SR
Q’ 4»»0‘.’

®

P 6 8 4 71 A 0 1 8 2 0



s
K
3K

o
%
3%
3%
XX

>,
5
<

<

%S
R

XX
@@%ﬁ
XX

%5
RRRX:

-

9%~
%8°

St
20 o I

XK
090%6%%%
000‘0’0.‘

BLANK PAGE

X
opetetele

Slabe s
KRR

190909020 %
RRSZRIKL
K
XX X

58S
OT:
S5

P 6 8 4 71 A 01 9 2 0

—



BLANK PAGE

o

P 6 8 4 71 A 0 2 0 2 O



